Sample Paper
(Crantitative Abiliny )

1 & wrader sells iwo goods having identical cost price (CP), On one he sams 4 slargin of profi
ciquitl iz 20%, and in the other he cheats on weight claiming to scll at =Pl mo-foak badsis
Actusly e vhears his customers by going B0 gmeanly Histead of | kg: What is les overall

percentase-gain’

{4) 20 b 1M [y 25% {dd 304
2 The smallest number of & digits which s eactly divisible by 10, B2 25 15

o) Ve L0 {1 0L Z2H) (e [, 300 () 1,200
3 What is e value of 1|I'f|—1.|'r- VE-d6—.a !
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i elthar satement aone
not sufficient o ahswe
question. Choose ¢ 1 b
neither siniément by i
whign taken tegether: are n0TS)

guestion 15 follvsal by o stiteme
e the duistinn asked. bul the oth A
i i F edthir statcm answeer the

G
Sl i ! ! ¢ uestlon but
sfafdet !# Wi KIAIEeTEs, Eyen

| for either Fdith o Jose (bt et

4. In & sehiool slection in O v
b vt fiy Do

bk, what petent o the female
{1} Eghity percent of the female

{11 Sty prercent of e g for Juse
3 Whit are the vl 8% of s N, i
(rmy =& iHyyz=19
i, LR il of apples’
bl K dozens of bnaras cost £ 950
eould he enchiried fior tw dozens of bamsnas
A mitlineowsly Gl an empty swimming poel thit-has o capagity of SO0 Tiere

enich hose i3 independent of the flow in the other b, hive many Boues will i

c the poal”

(15 1o ¥ abone woukl take 38 Rours e Bl the pool

(111 Hose ¥ alang wiould tikie 36 hours o 71 the pool

A letier. lock eonsises of thees fines murked with 13 differens fetters. What n the: namber of
Wi in, witich it is pirssible 1o make dnsieedssiul atiemps o open the lock?

(o) 1714 ihy 286 fer 37 tdi 2196

Directions (L9 W F1): Answer these questions on ik hasis oF the folliwing sraph wiieh sl the
production of ltems AL B wnd O durinig the monthst April, Moy & fune; )
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9, The percentage increase of production of item A from April o May {s
{E) 3350 ) 3% () Tty (dy25%
I The wverill production of items A, B, L during Apnd and May = i the ratio
a1l (b1 4 (181 L

Il The fotal producti
e i thee Ftio

giz: months of Aprell, Mas & Jume of the 1

@) TS . 74514
2] A surr of & 75 o imlividuals A, B, O
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Whiat wrmesint will
fml 3400
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B (0, -400)

Two trafs star it the same time from A and B respectively wilh 80 and 40 Kmph_ Afler how
much tme will be distance - berween the troiis be (e minimum?

() 25k thi4h (€15 h {adp Nane ol these
B Wihan will bie the remainder when 307 s divided by 7
) 2 thid lerd s

Questions (15):



Two pariners.in busingss, Mohit and Mabendra started husiness in 2002; In 2003 the profit T
divided in such a way that Mohit sor 2t 8500 wnd Mahendra ook 20%: of the prafit. The next sear bath
indvidually ot 12000, In 2006 Mohit got 23% of the profit, while Mabenden ook 2 AU which
wits 25% more fhan shat he gt the previnus year when the profit wos shared between him and Mhit
i Lt ety 228

Based on the above dits, answer the Tollawing,

15, The ratio of Mohit's shase of the profit in 2004 and 2003 0 Mabendr's shine in the ssme “
peripd wiss: '
fa) a2 () 5:4 o Eehb: {d) nome of these

16, Whi earnid more money from 2003 o 20067
() Malit (b1 Mahendm

(e) bath 2ol egual amounts {dpcanmin he determined
7. A Band C ogethir can docn piece ol wirk in 10 duys: Bland © opgecher sk
% A mnd A and B iogether woek 4 pimes nsomuoch os € Inowhat time cgn cag

daysy!
(m) 45, X2 52
18 Devam and £N
capital after
profi
(u) 6; %

ferdim 2050 g 5
3  bising o et b les his
al proportivn should Doyl e, Despak ide that vear's

y Planes perallel to the base as
rutid o the volume of B 10 thit
af (s

T R = 3
(hj 197

A
oo B | e g
Wi:s @ et
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Bor o olilE wbservies a Gshing teawler at an anghe of depression ol 30" which 1=
wching the shore 1o the paint immediaely beenth the phserver with o unifarm speed. 6
minttes later, the anigle of depression of (he ravwler is foand b be 60F The time twken by the
trawler 10-reach the shuee Trom the position List ohserved i
{2 33 min ih) q'rl'g min {ed 1.5 min {3 3 min
21 Iheavenise weight of 4% smudents i u <lass is 32 kg, Five of them whose sverge weizht is 48
fi lemve the cluss and ather 3 stodenis whose averags weight is: 34 kg jein the class, What is
the new average wiight 1in k) of the cluss?
;|
{a)526 ]| EE-‘i— (el 51_-ll (ol Meome of thise
230 Ao in aciy eovers one thind of the distince 7 20 kb, one fourth g 30 kb and the
rest @ 4 kimdhe. What b5 the avernpe speed for the entire jourmey?
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Ly 2 ﬁkmrl!r (i 25 kim/he {3 30 kmrhe 1) noing of these
It phe rectinsulor co-nrdinaze sy stem, the aica of the-shisded regiom is:

(@) 4 5g. units i :|._| A
Lol e '
—_—t—t—F
1.3 35 5¥
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=1 ; ey - |
A& B are rurming on a4 2 4mc itk Shmeptint, in opposite direction. 11

l:li 24 al:l.l.'lhl.lh £ _\ir.n..rmd:.
{eh2 l seconds, 240 seconds

m:andn. J-ID mumﬂs
nsists of o quantities, one i -Column A and

Colummn B
6293 = 71,714

The wrea of the circle with centre.ar © 15| 61

ak 4
. o and rare 3 consedutive odd integors such that p < g
prqtl gtr=1

“'1!';‘!1 W sarmesn &ma‘ﬂﬂm and (it stamed 1oodi leTinpr aanglier Ihc El"liﬂ“i;"l: ot @ dietitian,



Sangectn's weishi wias 3 ke more than Gita’s. When they stopped sach lost 15 kg,

. Percent of Sunpestas’y sEringe weight  Percent of Qg s sturting weight fost on dier
livsl arr il
(ﬁ\l
A cireulr mhblotop ks e from the aquale pieces of wiood as shown ahove
0. Peroerit o the wind #urface thit-is not Pt
wsed for the lebletop
il Which numberin the inmer toongle n piace of ™ would match the patiemn of the e mon
5 6
a :
fa) 19 _ 3 =t [ ) Nine ol thigse
L A pman borfows £ 4000 w0 18% compe R TR o0 Tt i seconnid & ears,
he poys respectively T E300 de T 2000, How o aSRe e s ot end to thivd pedr b clear
T e sy
fa)® 605 ihi# 1713 TES fu)® 2008
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Rain Fall Data - Kuchchh and Navsari Districts

35 What v (he averdee i

[y 1630 3

. Avempe ralnfell of Nayvsans pu THOG 10 the overage rammfall ol
kischichh. _ i
() 3.5:10 by k.52 o) AN fdya: i

35 InMavear in which visar d wskipiest pércentage drog compared 1o the
PV Ui NEar, (]
{0 Tk i [ ) 2HIT 1 2009

Quenslons

ulation in Muricigal L’urpnnti::rn Areas - Eight
© major cities in Gujarat

| Mahanagar Haenan Mﬂﬂlﬂﬂ  Number of
Palika Population | Ares in Ha. Trees above
10em GRH

" Ahmedabad | 5570590 16 985 (R

Surat IR 30349 333,000
Vadbdir T, 7000 2 747,158
Gandhinager | 208300 ERT 8.66.671
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Haghol 1287000 10,300 13753 |
|
Bhovnagar ¢ | 593,770 5320 475955 |
Victoria Park .
Jumagadh 320,230 5670 T4
Jammagar E2%.FHD 1434 45477 'ﬁ
Totul 1,46,37,920 1353322 33,0094

bibiemiaii popeibations?
(a2

Twis ecomimists ad i ; ;
Ciuparat. Fatar it is uk th i a v whibe
the second unider-cd i :

What W ds the o=t

ST

Ll FIH) 4% 1
Wit |5 thie sum of the Do Mg
2 4 & 8 10

Which major city has the lowest tree density per hectdre of geogmphical dri?
() Ahmisdabagd b} St fc) Bkt _ {d} Jaminagar
In the mtunisipal eorporation areas what B number of tiees ahisve 10 cm GOH per lhpuwn

fisr | §, whille ® and # stand respectiviedy fors and « then
ptad] >

I
e |'Ir (i 2



Answer Key: Sample Paper

Quantitative Ability
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Solution: Sample Paper
(O ntitative Abiling

Pelirrgtin oo paealin is defined as i portion ol 5P that goes to' the radée a-profit. In shor.

Mdargin = E;PE—P « 1 00h, which i eijui nlent to the ol s e

E?ﬂ!“_“*r] L2
(E1l3] L4
In the spevific situation, 5P = lTF [ thie guin percentage would he 23%

o [0t = 81K
The éxtent of chestings frmplics Wil Eam percenmge = e w100 =23%:

Hence (£
Fhg LEEM of the
o division by 3
sl 20K 1 000
Cipion (h

yh
o

It expression. ¥ — ) lsinfinitely repeated.
fs vabue shoubd be suchhar iFwe pul the re roul fenetion we shoild pet hack
thie wwrmre mumber. Sathemationl| b Id besich thit J&—1 =¥ Monsover thie
nembse should be less than b
It is-eisy by e Tl | bz 6 —3 =

wit rvigry viter soderl far one of the condidates, [F A0 femitle voters

Miw consider the situnion when both Land 1 are true
Statment ©implies that % and ¢ will have the valués (1 Bfor' (2, 4) For the first pair it is
s ble that
¥=Ly=Handalso s =K y=1
Fromu staternent 1, the possibde par ol walues for v and & wre (3, 3 aod (1, 9)
When both B and T ane trog the conglusian is thary = |
= Bov=] il =19
Henee (<)
In statement | there are ro imknowns, herce | alone woild por be sulficient.



In seatement 11, there (s nio msnetary value mentioned, henee [ alone sl nit be

sgfficient Combining, {F A and B are respectivisly the valuas of ome ki gppiesand bne

dingent bianaimis, you will gt

10A + [SR=930_ (1)

=20 T

Thiesi two cuuistbons have unigui solution. Hence j¢)

Seapernent | givies e sele of Hose X oo hae abaneas mof enoaghy Stoolardy sisitenesit 1dong s also ol

saliYieient. Combining one con et e amswer, "‘

Chptacm dch
Sinee each ring his 13 different positions the ol number of attempis that can be made 0 ppen
thie lack 5137 Datof these, there is just one altemipt which will open the lock

Thiss. the number of ways of making unsuceessiul altempls s Fa' = | = 2190,

11 s empoiph 1 work with approximate values in this O sel '

April produgtion = |30

Muy prodition = 250

Ciption thi) ) e e

Chverull produetin
Cowerall productig
aptian thy

el | prodoct f

Fuking data of pr e s 430!
=45 05

Chphioan (e u

If kb the value of the #ual proportions, ihe® implies tha k=2,
Then

B=4C and A=2B . B=24D
From the last conditicon,

MW 0 R - M

e T 1 b |

30, s e B LI

=4h” - 20h= 25 b* - 20h + 100

< Sh* - 4lh - | 25

=35 il -4F + 9]

I his distamce will be minimum when b = 4 [ e after four hours from the star

Accorifing 1 the luw of remuinders

Remaindes |" A0 300 s 1;1.-: 3l 3 ]
|} L

Because M0 divided by 7 leaves remainder 2,

Wiy 32 divided by 7 will legve remainder 4.

‘ Fival remainder 51

|- LT e
= Remarider ldodociaica
1 T J



15 & 16 . . . .
A easy wiry 1o do this problem is o develop a matrix in which detaifs could be (itled in:

Year ‘Mohit Mahendra
2403 B, M .
mm |2_mﬂ ]E;m

2005 1,100 12,000
2006 5000 15,004
13000 41,000

G
In thie preriod 200 o TO05. Mshit go T 30,000, whilke Mabendra gor T 24000, q
Henge the mtio of profit was 34
Mprenver, during the same period Mokl esmed ® 23000 in profits, while Miheads
cenly 41 000, This i ke k

i shou il make amswers clear, '
I7 Let A, b L ke respoctive iays,
" - I , a

|-

=

+

| = | — -

L R A

-

B = — | —

Pitting for .ilr oL form 2 inta (1)
T

i=l ~a=40

a1

Similarly, &= 5



https://www.entranceexams.io/

2,
OH i the horizonta [ie: ACEE the inatsal
position of the rawker, By virue o the
given conditians ZHOA = 30°

Let GC = h the helght of the il 4
Uisingg propertics of 31607007 riangle;

B URES B AR = v@#—%=%h

=t

Vi
A
L from B & BOC
Tk RO ADE E e

=0

bF4+F
Hen @ correst anawer chiles s (d)
& 1

= 33 kmhr

Thee Reuiired Area =%\j:ﬂ’k3 . ;-nhcl-‘ =L—Hﬂ'=3

-

Hgiee the sorméel answer chobee 15 (ch

4 You kmow that (211 js-nth term of the AP |, 3.5, 7 .. when (In-1) +s__1_'n+lnh jesrm ol the
surme AP Let us eall the mh term of given seties o,
The diffirence of the 1wo terms i the denominalr is constant and cqual ti 2.

Lo
T -
=1 A

Xy =———



3.

I
= P L [ |
h=g—3
I I
X = e e ———
BT [ P
Addin :
oo o, RaEa )= I—-L-=--i- "

2o+l e

2 The sim =

Heneeily q
'JRJ! 'y e
i
QM [raint i dvery 0 apd 640

n a1 thestarting point,

[0 sec their o
Serthiy would me
I'te Inddivicunts A 1

it meed b waste time mdtiply
Product of two wnegual posi
the smialler is i
Optign (hy

; lnl}rl.am-i when the numbers move o dach ather 1.e.
fimtiriishad.

—2andr=g +2
2= lFandyg+ o= 1 =2y + 1

They bost equal amount of weight. AL start Sangeeta’s weight was more. Theretore it lost
figher perveniipe.of weighl.

letrbe radius of cirele,

Aren of wond = 2¢ » Ir=dr-

Aren of abletop = o” =304

Wood pot used = (0 §6r

Wi o wond not used = % {-i
tipton (b _ _ N
Foeising on the first trinngle on the left and working with 3, 6 and 7 i pairs o single vou

cannot gul 24 caxily. So think in feverss 24" — 576, Similardy, 17 =259

A
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3.

3

3,

W

Henve thie number miss Fe 28,

Al theend of year | deby remaining = 4000 = 1,15 1500 = 3100

At the et of year T ihe debd remming = 3100« |5 — 20 = | 565

Al the e of yeur 3 he Bins w opay 1565 « 115~ [Rod

Chption (&)

Llsing approsimate values

Average rainfall Mavsar _‘
e %Hlm + 200 & 2100+ 2R50 4 2130+ 1700 + 2200+ 14 + 1950 + 1 900) = 2053

Liption (e}

Avenipe ruinfull Kuchehh

= &]-Hﬂﬂ-r TOO 03000+ 300 4 F50 4+ 550+ 550 = 500+ 85004 450) = 484

Rutii (upproa) = 4.2

Option (B

Highest percentagoseeting Wil muterialize when drop s shamp e

comparatively 0 Lgether for 2009,
Oiptaon (d) '

Trevm ahe nuimbers

e can ensily see that Sl

Uhpteom () :
ks eisy 1o rhied the sy erige pum

Ldlh:!.ﬂm!r_illl.hl-

100 |
-l ST
=k 1N+ 1
[

X %45 8
s i T
GF X 33 2 2
T T T e

h
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